
April Fools Solution

The flavor text hints that you need to add and count something. “You can always count on easily 
fooled audiences to add to the annual confusion.”  By using the sum of the decade and year to index 
the letters the text you get letters for the solution.

1957 5 + 7 12 Y

1996 9 + 6 15 R

1934 3 + 4 7 E

1919 1 + 9 10 E

1980 8 + 0 8 A

1922 2 + 2 4 V

1975 7 + 5 12 E

1949 4 + 9 13 R

1962 6 + 2 8 Y

Us the years to order the letters to get the final Solution.

EVERY YEAR


